Maths WB 1.6.20
Each day’s work links to a teaching video available at https://whiterosemaths.com/homelearning/year-4/.
Select Summer — Week 6 and the lesson that you are completing. The activity sheet linked to the lesson is the same as the questions in this pack. The
answers are also available via the website.

Monday 1 June 2020
LO: Adding two or more fractions
To start this week, we would like you to practise adding 2 or more fractions. Remember, we only add the numerator (the top number) and the
denominator (the bottom number) stays the same.

=
A [k

d} which part-whole model s the odd one out?

b}

Explain your cholce to a portnar.

)

o complete the additions. <
°[ [ s

o |
+
oo |
]

Did you both haove the same answear?

a %"' % = o complete the additions.
a) % + % = a) % + % = =
o Completa the part-whole modals.
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https://whiterosemaths.com/homelearning/year-4/

a o Complete the number sentences.
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What could the missing numerators be?
Glve four different possibilities.
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o Tommy Is adding fractions.

Explain why Tommy Is Incorrect. Rosle walked 2 km.
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o Rosle, Whitney and Teddy hove each been for a walk.

Whitnay walked % k.
Teddy walked % km.

a) How far did they walk altogether?

b Jock also went for a walk,

Altogether the four chilldren walked 3 km.

Howy far did lack walk?




Tuesday 2" June 2020
LO: Subtract 2 fractions
Today, we would like you to practise subtracting two fractions.
If you need extra support, visit https://whiterosemaths.com/homelearning/year-4/ and select Summer — Week 6 — Lesson 2 to find a video to support you.

o complete the subtractions. ) complete the calculations.
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https://whiterosemaths.com/homelearning/year-4/

o Jack has 2% kg of potatoes.

He uses —i— kg of potatoes.
How many kilograms does he have left?

Jack has kg left.

o Complete the part-whole models.
a) H b) H
o complete the part-whole model In two different ways.
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Alex and Annle are taking turns ploying a computer game.
Annle plays for a total nf:%hnurs.

Annle plays for % of an hour more than Alex.

How much time do they spend In total ploying on the gomea?

howurs




Wednesday 3™ June 2020
LO: Fractions of quantities
Today, we would like you to practise finding fractions of quantities.
If you need extra support, visit https://whiterosemaths.com/homelearning/year-4/ and select Summer — Week 6 — Lesson 3 to find a video to support you.
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o Filip has a chocolate bar with 5 equal pleces.
The chocolate bar welghs 60 g.
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a) Whot Is the mass of one plece?

The mass of one plece Is a.

b) Filip eats % of the bar of chocolate.
How many grams does Fllip eat?

20 80

.
-

Fllip eats g of chocolate.



https://whiterosemaths.com/homelearning/year-4/

o Complete the number sentences.
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o' Match the calculations to the answers.

%nfm 18
%nfm 15
%uf:ﬂ 16
%ufzn 12

o a) Write each calculation In the comrect circle.
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b) Write one more colculation In each circle.

o Write <, > or = to compare the calculations.

e
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Thursday 4™ June 2020

LO: Calculate quantities
Today, we would like you to practise calculating quantities. If you need extra support, visit https://whiterosemaths.com/homelearning/year-4/ and select
Summer — Week 6 — Lesson 4 to find a video to support you.

o match the colculations to the bar models. o Complete the sentences.
work out the missing quantities. a) when one fifth Is 1, the whole Is
7
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https://whiterosemaths.com/homelearning/year-4/

) o Dora and Mo have a full bottle of julce.

Dora drlnh;s% of the Julca.

Mo drlnks%nf the julce.

12 There Is 150 ml of julce left In the bottle.
How much Julce was In the full bottla?
d)
. : 2 o Rosle and Ron are collecting red and blue counters.
12

They have the same number of blue countars.

They have a different number of red countars.

e

f’fd—hmre 18 cuunter\l
@I , '\;lt-:-geﬂrler < are Ej}ji/

.ﬂl Complete the colculaticns.

n}%nf - 30 E}%uf =15 ) il
| Rosle |
EE— ‘ff i of my munter\
L\ are blue. <}
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b) 3 of = 15 N 2of =15 ~ Ron
a) How mony counters does Ron hove altogether?
g Lof = 15 g) 2 of = 35

B} How many red counters do they each hove?

Rosle has red countars.

d) %uf =15 {1 %uf = 3g Ron hos red counters.
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Friday 5% June2020
LO: Arithmetic: Today we’d like you to practise some mental arithmetic. You may use the space underneath the questions for your workings out!

572 + 100 = 4 %+%=

317 -200 = 5 | 4920-1000 =

39x6= 6 | 2776 +4619 =




12x7 =

826x3=

10 | 376 +008 =

[ [ 1]
11 | 29+10=

[ [ 1]
12 | 47 +287 =




